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( ) 1. The issue of tourism leakage:
(A). refers to a deficit that ocours when the sum spent by outbound residents
exceeds revenues from visitor expenditures in a given destination.
(B). can be exacerbated by the dominance of foreign-owned tour operators.
(C). is most prevalent in mature destinations, including Britain, France and the
USA.
(D). is commonly found in economically backward regions where visitors’
material needs cannot be met locally.

= BELF (A5 %) (10%)
1. flow experience
2. contingent valuation method
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1. Evidence of the possible catastrophic impact of climate change as a result of
global warming is everywhere around us—in the polluted air, the floods, in the
landslides and other natural disasters that seem to be happening with increasing
frequency. Yet in most developing countries, governments and the general public alike
still refuse to see it as-a priority concern.

Alarm bells have begun to ring on a global scale, underlined by the recent
Inter-governmental Panel on Climate Change (IPCC) in Bangkok and copious
* scientific studies that seem to demonstrate the dire consequences of ignoring the
impact of climate change. The IPCC reports that sea levels will rise by between 18 cm
and 28 cm over the next five years. Temperatures, it says, will increase by 0.2 degrees
to 1 degree Celsius a year. In Indonesia, scientists predict that 2000 small islands will
disappear as a result of rising sea level. “Global warming will cause rising sea level
and those small islands will disappear in the next 10 fo 15 years,” wamned

environmentalist Damayanti Buchori of the Indonesian Biodiversity Fund (Kehati).
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Despite ll this, it is sad to say that many developing countries still regard global
warming and climate change as a global problem, not a local one. The most convenient
and least guilt-conscious argument given against taking any immediate action is,
predictably enough, the focus on economic growth to raise people out of poverty.
Governments want to prioritize the fight against disease and mainutrition and to
provide the basic needs of food, shelter and education to their still impoverished
populations. (33 # & : AsiaViews, May-Tune 2007, p.4)
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2. Destination marketing is increasingly becoming extremely competitive worldwide.
This paper explains the destination concept and attempts to synthesize several models
for strategic marketing and management of destinations. It provides an overview of
several techniques widely used and illustrates examples from around the wotld. The
paper also explains that marketing of destinations should balance the strategic
objectives of all stakeholders as well the sustainability of local resources. Destinations
need to differentiate their products and develop partnerships between the public and
private sector locally in order to co-ordinate delivery. Taking advantage of new
technologies and the Internet also enables destinations to enhance their
competitiveness by increasing their visibility, reducing costs and enhancing local
co-operation. Destination marketing must lead to the optimization of tourism impacts
and the achievement of the strategic objectives for all stakeholders.

In conclusion, destination marketing is becoming more complex as tourists
consume regions as experiences, often ignoring that tourism products consist of a great
number of individually produced products and services. Global competition and
industry concentration develop new challenges. In this sense, destination marketers
have to achieve the strategic objectives set through stakeholders' analysis and match
the appropriate demand with supply, by using the entire range of marketing tools for
communicating with consumers and suppliers. Global competition and the new,
experienced, demanding and sophisticated travelers reposition destination marketing to
be the main interface between consumers and local principals. Consumers are
increasingly following special interests and regard their trips as both recreational and
educational experiences. Therefore, destination themes and their interpretation become
more important for the future. Training of human resources as well as co-operation
between competing and complementary destinations enable regions to learn from each
other and adapt to demand requirements. Innovative marketing led by research and
using new technologies, will be the only way to manage and market competitive
destinations in the future for the benefits of their stakeholders. ( 3 & 4y )&  Buhalis, D.
(2000). Tourism Management, 21, 97-116 )

2



ARG L FE AT A -

(1ysfeBeds th Pt FNEE S ey ERH T ?

(2) BHREE T R RIS A & F 7 R 4T Destination
Marketing <

W PR (8205 (40%)

L FABSMERATRAL ? AR - AUTNERAFZARABHTT
ZH BB RN ENE A ERARHEE A ETRATRAINT IR
Bl o

2. 4 %4738 Recreation Opportunity Spectrum~ Recreation Carrying Capacity
Limits of Acceptable Change ~  Visitor Impact Management + Visitor Experience
and Resource Protection ? 3 > B4Rt BN —BELAE &6 0 H 4o
A LR SN B R EEFE Y .



CEE RS P YRS Ry o b Bty
TR

[@R 2% FTEEE A LA
FERERERARE LSS

& RAEA - 5 2%, 15 % 30%

1. When a company president states: "Our company will achieve annual sales of
$66 million within three years,” this is an example of; A) = a mission. B) arule.
C) along-range objective. D} a strategy.

HII

2. Creativity is an example of which one of Maslow's needs?
A) Self-actualization B) Esteem C) Social D) Safety

3. Which of the following types of power is based on the capacity of the manager to
provide results desired by subordinates?
A) Coercive power B) Referent power C) Rewardpower D) None of
the above

A 4. The idea that mental effort during work is as natural as play is a basic assumption
in:  A) TheoryX. B) TheoryY. C) TheoryZ. D) TheoryA.

5. When members of a group are unwilling to disagree with other members even
when they feel that these other members are wrong in their recommendations, we
say that the group is experiencing:

A) the idiosyncrasy effect. B) the Chandler effect. C) groupthink. D)
the Hawthorne effect.

6. McDonald's Corporation made a basic decision as to how to divide the tasks of
the jobs of "chefs" and "food servers" in its restaurants.  This was an example of:
A) continunons-process technology. B) job design. C)  divisional structure.
D) product structure. E) matrix structure.

7. The actions taken to meet the needs of customers are known as:  A) efficiency.
B} quality. C€) TQM. D) quality control, E) responsiveness.

8. The person who inspires, motivates, and directs the activities of others so that
they work toward organizational goals is known as a(n):



A) follower. B) leadership substitute. C) coercive leader.
D) leader. E) manager.

9. What are the four basic managerial functions? (A) Planning, Analysis, Design,
and Implementing. (B) Production, Marketing, Finance, and Personnel. (C)
Planning, Organizing, Leading, and Controlling. (D) Diagnostic, Action,
Monitoring, and Decision.

10. Which of the following is not one of Taylor’s principles of management? (A)
* Develop a common vision for workers and managers (B) Divide work and
responsibilities clearly and evenly among workers (C) Put emphasis on the
training of workers (D) Scientifically study jobs and make decisions
accordingly.

11.BMW advertisings lately emphasize the company’s cars being subjected to crash
tests, and create the impression the BMWs are the safest cars around the globe.
‘What competitive business strategy does this example represent? (A) Overall
cost reduction (B) Successful leadership (C) Focus (D) Analyzer.

12. According to Maslow’s need categories, which are the needs for friendship? (A)
Physiological needs (B) Security needs (C) Social needs (D) Esteem needs.

13. Putting employecs of similar or related specialties into a department is a: (A)
simple structure. (B) fumctional structure. (C) divisional structure. (D)
conglomerate structure.

14. A Theory X employee would: (A) seek responsibility. (B) need to be ‘pushed_ to
achieve goals. (C) view work as an important activity. (D) exercise

self-control.

15.1n the area of marketing, a small company has the advantage over a large
company at: (A} lower production cost, (B) personalized service. (C) effective
selling program. (D) effective inventory controls,
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{ )1. If the probability that Mr. Huang will be alive in 30 years is 0.7 and the
probability that Mr. Lee wiil be alive in 30 years is 0.8, what is the probability
that neither will be alive in 30 years?

(1)0.56
(2)0.34
(3) 0.06
(4)0.04

( )2. If hypothesis test leads to the rejection of the null hypothesis
(1) a Type I error may have been committed only.

(2) a Type I error is always committed.
(3) a Type II error may have been committed only.
(4) a Type I error is always committed.
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1. Intervening variable
2. Content validity
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Independent Variables b SE t p-value
Membership 0.628 0.03 4.883 0.000
Influence and relatedness 0.429 0.03 2220 0.028
Integration and fulfillment of need 0.570 0.03 3.523 0.001
Shared emotional connection 0.168 0.03 1.281 0.203
Constant no. 13.423 0.50 6.577 0.000

Note : 1. B*=0.339, adjusted R*= 0,328, F = 32.73, p = 0,000 2. Dependent variable: Member’s loyalty
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